
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



41.  A best buffer has large and equal quantities of weak acid and conjugate base.  Since [Acid] = [Base] 

  for the best buffer… 

 pH = pKa   +  log [Base]/[Acid]  =  pKa + 0 

 *** for the best buffer solution, pH is equal to pKa (or close to it) 

          If we want a buffer with a pH = 7.00, we want a pKa as close to 7 as possible (Ka around 1.0 x 10-7) 

 HOCl has a Ka = 3.5 x 10-8 and pKa = 7.46 

 7.00  =  7.46   + log [Base]/[Acid]  = 10-0.46  = 0.35 

 So any [OCl-]/[HOCl] value with a ratio of 0.35 to 1 will work 

 

 

 

 

 

 

 

 

 

 

 


